



Res # 2454818 - Active

| Contact | AGATA KOWALCZYK ▼ |
|--|--|
| Brand/Market | GATE1 / IT-IR ▼ |
| Pricing | 4,280.03 ▼ |
| Received: Due (Credit Card): Due (Cash/Check): Deposit: Final Pay: | 600.00 3,680.03 3,496.03 05 Apr 2023 19 Sep 2023 |

Important Information

- This package is independent. You will not be part of a group tour and will not be accompanied by a tour manager.
- Airfare options for this program may not include checked luggage nor advance seat assignments. Please check your airfare selection carefully.
- Click here to explore current Covid-19 requirements for countries you will be visiting. As guidelines are continually changing, we encourage you to check this information when your departure date nears.

| Services Sat, 18 Nov 2023 Flash Sale - 230331 - Rome | | | | | | | |
|--|--------------|----------|--|--|--------------------------|------------------------|---------|
| | | | | | 3 Passengers | -150.00 | -450.00 |
| | | | | | 9 Day Venice, Florence 8 | Rome by Rail (Saturday | |
| Departure, New York) | | | | | | | |
| Based on 2 Adults and 1 Child | Sharing Room | | | | | | |
| 2 Adults / | 1,416.01 | 2,832.02 | | | | | |
| 9 Days | | | | | | | |
| Based on 2 Adults and 1 Child | Sharing Room | | | | | | |
| 1 Child / | 1,416.01 | 1,416.01 | | | | | |
| 9 Days | | | | | | | |
| | | | | | | | |

| Electronic Documents | | | | |
|--|--|--|--|--|
| 1 Electronic Delivery | Included | | | |
| I decline coverage and prefer not to protect my trip More Info | | | | |
| 3 Passengers | | | | |
| Package Airfare - [2FHNAM] ▼ | | | | |
| 2 Adults | Included | | | |
| GATE1 Airfare | | | | |
| New York, NY (JFK) 18 Nov 2023 06:55PM Flight Number: DL 38 Airline Name: Delta Air Lines Seats: 26C, 26B, 26A | Venice, Italy 19 Nov 2023 09:20AM Bags: Includes 1 checked bag(s) 0 Stops Locator: GGD2WV | | | |
| Rome, Fiumicino, Ital 26 Nov 2023 06:10AM Flight Number: DL 9383 Airline Name: Delta Air Lines Seats: N/A Operated By: KL- | Amsterdam, Netherland 26 Nov 2023 08:45AM Bags: Includes 1 checked bag(s) 0 Stops Locator: GGD2WV KLM Royal Dutch A | | | |
| | | | | |
| Amsterdam, Netherland > 26 Nov 2023 09:55AM | New York, NY (JFK) 26 Nov 2023 12:20PM | | | |
| Flight Number: DL 47 | Bags: Includes 1 checked bag(s) 0 Stops | | | |
| Airline Name: Delta Air Lines Seats: 39C, 39B, 39A | Locator: GGD2WV | | | |
| GATE1 Airfare - Includes 1 checked bag(s) Estimated Ticket Issue Date: 7 days after full payment Airline Fees per ticket once issued: Change 0.00 plus fare difference; Cancel 100% non-refundable | | | | |
| Package Airfare | | | | |
| 1 Child | Included | | | |
| Sun, 19 Nov 2023 | | | | |
| Hotel Carlton Capri, Venice, Italy Standard Room with Breakfast More Info Venice City Tax | | | | |
| 1 Twin Room With Child / 2 Nights | Included | | | |
| Mon, 20 Nov 2023 | | | | |
| Gondola Ride 3:00 PM More Info | | | | |
| | | | | |

| 3 Adults | 49.00 | 147.00 | | |
|--|-----------|----------|--|--|
| Tue, 21 Nov 2023 | | | | |
| Train Venice to Florence -Std Cla | ISS | | | |
| 3 Passengers | | Included | | |
| Grand Hotel Mediterraneo, Florence, Italy Standard Room with Breakfast More Info Florence City Tax | | | | |
| 1 Twin Room With Child / 2 Nigh | nts | Included | | |
| Wed, 22 Nov 2023 | | | | |
| Half Day Chianti Tour 2:30 PM M | lore Info | | | |
| 2 Adults | 57.00 | 114.00 | | |
| Half Day Chianti Tour 2:30 PM M | lore Info | | | |
| 1 Child | 30.00 | 30.00 | | |
| Thu, 23 Nov 2023 | | | | |
| Train Florence to Rome -Std Clas | SS | | | |
| 3 Passengers | | Included | | |
| Hotel Villafranca, Rome, Italy Standard Room with Breakfast More Info Rome City Tax | | | | |
| 1 Twin Room With Child / 3 Nigh | nts | Included | | |
| Fri, 24 Nov 2023 | | | | |
| #2B Ancient Rome 1:30 PM More | e Info | | | |
| 2 Adults | 68.00 | 136.00 | | |
| #2B Ancient Rome 1:30 PM More Info | | | | |
| 1 Child | 55.00 | 55.00 | | |
| Enter Promotional Code | | | | |
| | | Apply | | |
| | | | | |

About Us Visa Requirements **Customer Reviews** My Account Travel Insurance **Terms & Conditions** Gate 1 Foundation Gate 1 Travel Blog

Travel Agents Traveler Photos FAQ Contact Us Our Videos Careers Site Map

Privacy Policy

* Prices include airfare, fuel surcharges, airport taxes and fees. All prices are per person based on twin occupancy. Air & land tour prices apply from the gateway airport or city specified in the Package Highlights. Prices will vary from alternative gateway airports or cities and may be higher. The total price will be clearly displayed prior to any deposit being required. Additional baggage charges may apply.

© 2023 Gate 1 Travel - 1-215-572-7676









